Year 5 Homework, Spring Term Week 7
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1. Write 900 using Roman numerals.

2. 10 yoghurts cost £2.40. Find the cost of 4.

3. Write as a decimal the sum of 3 hundreds and
109 hundredths.

4. Which is bigger? 2/3 or 6/8

5. 21/5+33/10

6. % of a sum of money is 54p. Find the whole
amount.
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Reading Comprehension
Please complete the reading comprehension.

/ Spellings \

Optional Maths Extension:
Green Pl:lrl le One bonus house point available
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\ / Calculate the perimeter of the shape.

Homework is due in on 14t March




